Y9 Maths and Money
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What do [ need to be able

M Credit: money being placed nto a bark account
. i Debit: money that leaves a bank account
By the end of this il you shoukd be abke o Balance: the amourt of money n a bark accourt
statements

Depostt: an nitial payment (often a way of secunng an tem you wil later pay for)

Muttipler: & number you are muttipyng by (Muipler more than | = increasing, less than | = decredsing)
Per Orvum: each year

Currercy: the. type. of money a country uses

Unitary one. — the cost of one

*  Cdculate smple. interest

»  Caculate compound interest

*  Caculate wages and taxes

*  Solve preblems with exchange rates
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: *  Solve unit pricing problems |
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| Bils and Bank Statements | | Smpte Interest " 300 |
| Bls — tel you the amount tems cost and can show how | | For edch year of ivestment the nterest remains the. same 250 I
: much money yow ned 10 pay Menu Price : | Principal amount xInterest Rate x Years S |
| Some. can inclde. a total I : 100 150 |
| Look for dfferent units M 89p | | Principal amount is the amount invested n the account 100 :
| (st npence or pounds) | Teq £1.50 I'] eg hvest £100 at 30/ smpke nterest for 4 years 50 H |
: L 100 x30 x4 _ o000 This account eamed £120 nterest 0 |
| Bark Statemerts : Liluu = O the end of year 4 they have £220 0 1 2 3 4yl
_____________________________ -
| Bark stalement can have negaive bdarces f themoney | (/= = — ==~ — T T T T T T T TR T T T T T T 0
| spert s higher than the money coming into the. account | |00mPOUI’Id Interest 300 — :
: || nterest s added to the current vaibe of nvestment  the 250 |
I Date. | Descripton | Credt | Debt | Balance : : end of each year so the next year’s interest is greater 200 1|
m I
: Szp! Sdory £1500 £1500 : : Principal amount x Multiplier Y €ars 150 |
h 100 |
: Sjp! Mortgoge £600 £900 : : eg huest £100 at 30/ compound interest for 4 years I H |
| B | 4_ This account has £285.61 n toldl I
a5t Bday Mon £15 £915 | 100 x 1.3* = £285.61 A |
oS | 9T ¥ al the end of the 4 years e
ey ——————— L]
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|Volue Odded Tax (VOT) | | Wages and Taies || Exchange Rates |
| I : Saaries fal into tax brackets — which means they | : 14 I
I VOT & paJoEbIe I%III;QGUE:{(I)WI’I'I by a | | Pay ths mueh each month from ther salary I | 1 XL o $1.40 I
busiess b the UA VAT & 207 and I ” .
| added tO Itﬁmg thﬁl[ are. bOUght : I Taxable Income Tax Rate I I :
| I £12 50110 £50 000 20% I I
| I I £50001 te £150 000 40% | I X 200 X 200 I
: Essential tems such s food do not : : over £150 000 45% [ : v :
nclude VO Over time | ~
| Il Time. ond @ half —means 15 tmes their hourly rate | I £200 > £280 I
I | I_Dowle— 2 tes ther houry rate | : x 1.4 :
—_— e e e e e ——
T T T T T T T T T T T T T T T T T T T T T I I
11 bt Dini I} When making estimates it s dkso vseful to use estimates to I
| Unit Pricing To cakulate wnt per cost you dvde by | : check.if our sobtion s reasonabe I
: 4 Oranges 5 cupeakes the. cost : | I
£1 £1.2 I |
: 0 T O A O : | Use inverse operdtions 1o reverse the exchange process |
| 4 = £1.00 D+ 2 5=£120 SLACL S : : Common Currencies :
I 2 =£050 +5 [| Unted fingdom £ Ponds | |
| | = £0.25 D; ) There s a directly proportiond l I Unted States of Omerca S Dollars I
|'1=£0. ) 1=1£0.20 relationship between the cost and 1| Europe £ Euros I
| Cost per Unit number of wits | I |
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